

Tabulation of Bids Page 1 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	27,500.00000	27,500.00				
_	RMANCE BOND AND IT BOND	DOLL						
0004	153003P	(1)	35,000.00000	35,000.00				
PROGRE	ESS SCHEDULE	LS						
0005	153005M	3.000	2,500.00000	7,500.00				
PROGRE	ESS SCHEDULE UPD	ATE U						
0006	154003P	(1)	250,000.00000	250,000.00				
MOBILIZ	ATION	LS						
0009	157004M	1.000	58,000.00000	58,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0018	159003M	150.000	1.00000	150.00				
BREAKA	WAY BARRICADE	U						



Page 2 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROAL		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019	159006M	300.000	1.00000	300.00				
DRUM		U						
0020	159009M	150.000	20.00000	3,000.00				
TRAFFIC	CONE	U						
0021	159012M	3,000.000	5.00000	15,000.00				
CONSTR	UCTION SIGNS	SF						
0022	159015M	2.000	1,000.00000	2,000.00				
CONSTRI	UCTION IDENTIFICATI K 8'	ON U						
0023	159024M	2.000	4,500.00000	9,000.00				
FLASHIN	G ARROW BOARD, 2'	< 4' U						
0024	159027M	2.000	4,500.00000	9,000.00				
FLASHIN	G ARROW BOARD, 4')	< 8' U						



Page 3 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	Set:	Cat A	Alt Member:	
0025	159030M	2.000	25,000.00000	50,000.00				
PORTAB SIGN	LE VARIABLE MESSA	AGE U						
0026	159108M	2.000	7,500.00000	15,000.00				
_	CONTROL TRUCK WED CRASH CUSHION	VITH U						
0027	159114M	2,500.000	1.80000	4,500.00				
	ABLE BLACK LINE G TAPE, 6"	LF						
0028	159120M	2,500.000	1.20000	3,000.00				
	RARY PAVEMENT G TAPE, 4"	LF						
0029	159135M	1,000.000	1.00000	1,000.00				
TEMPOR MARKER	RARY PAVEMENT RS	U						



Tabulation of Bids Page 4 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	o / Item ID escription	(1) ASPHAL SYSTEM						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0030	159138M	50.000	500.00000	25,000.00				
HMA PA	TCH	Т						
0031	159141M	400.000	95.00000	38,000.00				
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						
0032	159300M	10,000.000	0.33000	3,300.00				
TRAFFIC	STRIPES, LATEX, 4	" LF						
0033	159312M	2,000.000	0.84000	1,680.00				
TRAFFIC LATEX, 8	MARKINGS LINES, B"	LF						
0034	159314M	500.000	2.40000	1,200.00				
TRAFFIC LATEX, 2	MARKINGS LINES, 24"	LF						

Page 5 of 22



Tabulation of Bids

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0035	159320M	500.000	3.30000	1,650.00				
TRAFFIC LATEX	MARKINGS SYMBO	DLS, SF						
0036	160004M	1.000	4,600.00000	4,600.00				
FUEL PF	RICE ADJUSTMENT	DOLL						
0037	160007M	1.000	2,000.00000	2,000.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0038	161003P	(1)	10,000.00000	10,000.00				
FINAL C	LEANUP	LS						
0039	201003P	(1)	45,000.00000	45,000.00				
CLEARI	NG SITE	LS						
0040	202006M	50.000	1.00000	50.00				
EXCAVA	TION, TEST PIT	CY						



Page 6 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHAL SYSTEM						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0041	202009P	62.000	100.00000	6,200.00				
EXCAVA	TION, UNCLASSIFIE	D CY						
0042	202021P	249.000	50.00000	12,450.00				
REMOV	AL OF PAVEMENT	SY						
0043	203021P	70.000	50.00000	3,500.00				
I-14 SOI	L AGGREGATE	CY						
0044	302036P	502.000	30.00000	15,060.00				
_	GRADED AGGREGA OURSE, 6" THICK	TE SY						
0045	401009P	7,017.000	13.00000	91,221.00				
HMA MII	LING, 3" OR LESS	SY						
0046	401017P	4,312.000	25.00000	107,800.00				
MICRO-	MILLING	SY						



Tabulation of Bids Page 7 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A	Cat Alt Member:	
0047	401021M	516.000	100.00000	51,600.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	IT SY						
0048	401024M	1,000.000	1.75000	1,750.00				
	OF CRACKS IN HOT T SURFACE COURSE							
0049	401027M	5,000.000	0.01000	50.00				
POLYME	RIZED JOINT ADHES	IVE LF						
0050	401030M	1,000.000	4.00000	4,000.00				
TACK CC	DAT	GAL						
0051	401036M	150.000	0.01000	1.50				
PRIME C	OAT	GAL						



Page 8 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0052	401042M	895.000	125.00000	111,875.00				
	ASPHALT 9.5 M 64 COURSE	Т						
0053	401096M	157.000	175.00000	27,475.00				
HOT MIX	ASPHALT 19 M 64 BA	ASE T						
0054	401108M	25.000	250.00000	6,250.00				
CORE SA ASPHALT	MPLES, HOT MIX	U						
0055	422003M	9,978.000	7.90000	78,826.20				
FOG SEA	L SURFACE TREATM	IENT GAL						
0056	424003M	99,772.000	4.61000	459,948.92				
	R MODIFIED ASPHAL N CHIP SEAL	T SY						



Page 9 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt Set:		Cat Alt Member:		
0057	424004M	100,253.000	4.73000	474,196.69				
ASPHAL	TRUBBER CHIP SEA	AL SY						
0058	453006M	200.000	200.00000	40,000.00				
_	PTH CONCRETE NT REPAIR, HMA	SY						
0059	601122P	487.000	120.00000	58,440.00				
15" REIN PIPE	FORCED CONCRET	E LF						
0060	601124P	8.000	120.00000	960.00				
18" REIN PIPE	FORCED CONCRET	E LF						
0061	602012M	2.000	5,000.00000	10,000.00				
INLET, T	YPE B	U						



Page 10 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0062	602021M	3.000	9,900.00000	29,700.00				
INLET, T	YPE ES	U						
0063	602099M	6.000	1,000.00000	6,000.00				
RESET E	XISTING CASTING	U						
0064	602105M	11.000	2,500.00000	27,500.00				
SET INLE	T TYPE B, CASTING	G U						
0065	602111M	83.000	7,500.00000	622,500.00				
SET INLE	T TYPE ES, CASTIN	IG U						
0066	602154M	9.000	4,000.00000	36,000.00				
	TRUCTED INLET, T D, USING NEW CAS							
0067	602210M	5.000	500.00000	2,500.00				
BICYCLE	SAFE GRATE	U						



Page 11 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt Set: Cat Alt Membe				
0068	602213M	5.000	500.00000	2,500.00				
CURB P	IECE	U						
0069	602216M	10.000	1,500.00000	15,000.00				
CLEANIN STRUCT	NG DRAINAGE TURE	U						
0070	606039P	492.000	100.00000	49,200.00				
HOT MIX	(ASPHALT DRIVEWA)	Y, 6" SY						
0071	606075P	531.000	95.00000	50,445.00				
CONCR	ETE ISLAND, 4" THICK	SY						
0072	607018P	1,095.000	48.00000	52,560.00				
9" X 16" CURB	CONCRETE VERTICA	L LF						



Page 12 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat Alt Member:			
0073	607030P	5,079.000	48.00000	243,792.00				
12" X 13' CURB	' CONCRETE SLOP	ING LF						
0074	610003M	100,000.000	0.35000	35,000.00				
TRAFFIC	STRIPES, 4"	LF						
0075	610009M	1,750.000	8.00000	14,000.00				
TRAFFIC	MARKINGS	SF						
0076	610012M	30.000	65.00000	1,950.00				
RPM, MO LENS	DNO-DIRECTIONAL	, WHITE U						
0077	610014M	5,000.000	2.00000	10,000.00				
TRAFFIC	MARKING LINES, 8	8" LF						



Page 13 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0078	610016M	1,750.000	2.90000	5,075.00				
TRAFFI	C MARKING LINES, 1	2" LF						
0079	610017M	750.000	5.00000	3,750.00				
TRAFFI	C MARKING LINES, 2	4" LF						
0800	610018M	25.000	65.00000	1,625.00				
RPM, M AMBER	ONO-DIRECTIONAL, LENS	U						
0081	610024M	55.000	10.00000	550.00				
REMOV	AL OF RPM	U						
0082	610027M	1,200.000	13.00000	15,600.00				
REMOV RPM LE	AL AND REPLACEME NS	NT OF U						



Page 14 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0083	610036M	110,000.000	0.70000	77,000.00				
REMOVA	AL OF TRAFFIC STR	IPES LF						
0084	610039M	1,000.000	6.50000	6,500.00				
REMOVA	AL OF TRAFFIC MAF	RKINGS SF						
0085	612003P	650.000	40.00000	26,000.00				
REGULA SIGN	TORY AND WARNIN	NG SF						
0086	651255M	5.000	100.00000	500.00				
RESET V	VATER VALVE BOX	U						
0087	652432M	2.000	1,000.00000	2,000.00				
	MANHOLE, SANITAR USING EXISTING 3	RY U						



Page 15 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD

Line No / Item ID Item Description			(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0088	704123M	4.000	15,000.00000	60,000.00				
	R STATION ROADWA 1 LANES	AY U						
0089	704189M	4.000	35,000.00000	140,000.00				
WIM ROA	ADWAY DEVICES 1 L	ANES U						
0099	903006M	25.000	100.00000	2,500.00				
MISCELL	ANEOUS CONCRETE	E CY						

Section Totals: \$3,723,781.31

Page 16 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD

- Community - Company	,	,,					
Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTI	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0007 155009M	1.000	35,000.00000	35,000.00				
FIELD OFFICE TYPE C SET U	JP U						
0008 155027M	12.000	5,000.00000	60,000.00				
FIELD OFFICE TYPE C MAINTENANCE	МО						

Section Totals: \$95,000.00



Page 17 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

	lo / Item ID escription		(1) ASPHALT SYSTEMS					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0003	NON-PARTICI	PATING ROADWA	Y Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	3,136.00000	3,136.00				
-	'S AND CONTRACTO CTIVE LIABILITY NCE	R'S DOLL						
0003	152015P	1.000	21,331.00000	21,331.00				
POLLUT	ION LIABILITY INSUR	ANCE DOLL						
0090	802027M	1.000	1,500.00000	1,500.00				
TREE RE	EMOVAL, OVER 18" T ER	O 24" U						
0091	802030M	3.000	2,000.00000	6,000.00				
TREE RE	EMOVAL, OVER 24" T ER	O 30" U						
0092	802033M	2.000	2,500.00000	5,000.00				
TREE RE	EMOVAL, OVER 30" T ER	O 36" U						



Page 18 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICIF	PATING ROAD\	NAY Cat Alt	Set:	Cat A	It Member:	

0098 810006M 2,200.000 1.00000 2,200.00 MOWING SY

Section Totals: \$39,167.00



Page 19 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Set	: / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	EROSION CON	EROSION CONTROL		Cat Alt Set:		Cat Alt Member:	
0010	158003M	911.000	3.00000	2,733.00				
CAUTION	N FENCE	LF						
0011	158006M	948.000	3.00000	2,844.00				
SILT FEN	NCE	LF						
0012	158009M	939.000	10.00000	9,390.00				
HEAVY D	OUTY SILT FENCE,	LF						
0013	158030M	391.000	10.00000	3,910.00				
INLET FI	LTER TYPE 2, 2' X 4'	U						
0014	158060M	50.000	40.00000	2,000.00				
CONSTR	RUCTION DRIVEWAY	Т						
0015	158063P	(1)	30,000.00000	30,000.00				
CONCRE	TE WASHOUT SYST	EM LS						

Page 20 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	EROSION CON	NTROL	Cat Al	Set:	Cat A	It Member:	
0016	158072M	2.000	700.00000	1,400.00				
OIL ONLY TYPE 1	Y EMERGENCY SPII	LL KIT, U						
0017	158084M	25.000	50.00000	1,250.00				
EROSION REMOVA	N CONTROL SEDIMI L	ENT CY						
0096	806018P	100.000	2.00000	200.00				
FERTILIZ F	ING AND SEEDING	, TYPE SY						

Section Totals: \$53,727.00

Page 21 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0005	GENERAL LAN	IDSCAPE	Cat Alt	Set:	Cat A	It Member:	
0093	804006P	1,009.000	10.00000	10,090.00				
TOPSO	LING, 4" THICK	SY						
0094	804015P	112.000	30.00000	3,360.00				
BORRO	W TOPSOIL	CY						
0095	806006P	1,009.000	2.00000	2,018.00				
FERTILI A-3	ZING AND SEEDIN	G, TYPE SY						
0097	809006M	1,109.000	1.00000	1,109.00				
FIBER N	MULCHING	SY						
Sect	Section Totals:			\$16,577.00				
Contract Totals				\$3.928.252.31				

Contract Totals	\$3,928,252.31	
Cost Plus Time Totals	\$3,928,252.31	



Page 22 of 22

Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 05/25/17 COMPLETION DATE Min: Max:

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Call Order: 117 Contract ID: 17117 Counties: BURLINGTON

Letting Date: April 27, 2017 10:00 AM District(s): C1

Contract Time: 05/25/17 COMPLETION DATE

Contract Description: ROUTE 68, MOUNT PLEASANT ROAD Project(s): 100% STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS INC	\$3,928,252.31	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,